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Homework: Problem Set 3.1 : 1, 3, 5,7, 11, 13, 17, 19
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Homework: Problem Set 3.2 : 1, 3, 5, 7, 9, 11, 13, 15, 17
Problems: a) 2%y =327+ (6—2)zy — (6—2>)y=02 B M

o 201 y;=x< M O OI=2¥FAS Z0ct.

3-3. 1A HIMX HEHA

o i HIAR S8 0l2gFA
by =d'y/d"8 R WM &2 & HEY

y(”> —|—p”71(:13)y("71) +---+py (:c)y'+po (33)3/ = 7"(33)



v
e
T
=O£
rr

# Al (1)01 72t 7 0l HE0 A2t HE0I (g

)
DE HE EZEEL Metd SO0IHE A &l

> It 2H( o, 0AS nIie EIEH )

Z/(ﬂfo):KOr Z/,(l’o):Kp y(”71>(-r0):](n71
o S2d y (x) 2H
=> 0|ZA 28 (2.7 X))

Ex 1. ¢ +3y"+3y +y=30e *, y(0)=3, 4y’ (0)=—3, y"(0)=—147

SHBFA P43 +30+1=0+1)°=0 - \=—1(3F )

OB, y= (Cl+021'+631'2)67'7}

.y 3 - 2 3) -
yp':3cxe T exde”? = (322 — 2)e "

— 2 —a 2 —a 3 - 2, 3\ -z
y, =6cre " —3cxe” " —3cxe” " +ca'e * = cl6z— 627 +2%)e "

y,” =6ce " —6eze " —12cze " +6cx’e " +3ca’e T —ca'e "= c(6— 182+ 92> —2%)e *
e c(6— 182+ 92> — 2°)+ 3c(62 — 62 + 2°)+ 3c(32> — o)+ ca® =30 > =5
aetoll: y=y,+y, = (cl + cox + c3x2)e_f + 5z "
Step 3: =J|gt
y(0)=¢c, =3,
y = {* 3+cy+ (* cy t+ 263)a: + (15 - 03)x2 — 5z }67‘”, Yy (0)=—3+c,=—3—>¢,=0
y" ={3+2¢;+ (30— dey)z+ (— 30+ ¢y)a + 2 fe 7,y (0)=3+2¢; =— 4T —>¢; =— 25

LEAHM: y=(3—252%)e "+ 52’ ”



w,(x)
:yl($) Wr(x)dx+~-+y”(:r)/ e r(z)dx

Ex 2. 2%y —3z% + 62y — 6y =z’ Inx

Step 1: AX, vy,

E-C: Put y=2"

CESTEPAE
m(m—1)(m—2)—3m(m—1)+6m—6=m">—6m>+1lm—6=(m—1)(m—2)(m—3)=0
- m=1,2,3

B, y =+ cr’ +egr?

NA: y, =, yy=2a°, y; =2°

Tz 2? ‘ 022 2° z0 2° ; x 220
W=|12z32%=22°, W, =|02z3z%=2", Wo=|103z%=—22", W,=|12z0/=2"
02 6z 12 6x 01 6z 021

kw — s 3 144 6 ’ 6
BEE: '~ —y'+—y - —y=zlnz - rl@)=zz
x

" W2 W
yp:yI/Wrdx+y2/Wrdx+y3/Wrdw
5.3

4 2
T 2z T
foixlnas dx+ ‘/7x1nas dx+ ‘fiwlnx dx
3 Ys 21’3 Ys 21'3

2x
x 2 3 1
=z | —rzlnxdx—=x rzlnx de+x —zxlnx dx
2 2x
3 3 2 4 3
[z B ] S N _
—2(21nx 9 x(21nx 4)+2(xlnas x)
—lx4l x—g)
6 6
o mba: _ o a1 11
et y=y, ty,=cizt+cr +ez Jrgx ln:c—?

Homework: Problem Set 3.3 : 1, 3, 5, 7, 9, 11, 13
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